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OMB SYNOP U (All: 2362)
mean: -0.1368 rms: 1.3826 std: 1.3758
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® -4<=x<-3 -1<=x<0 2<=X<3 ® 5<=x<10
® -10<=x<-5 -3<=x<-2 O<=x<1 e 3<=x<4

® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5 . x=0



OMB SYNOP U (Used: 1470)
mean: -0.2198 rms: 1.7526 std: 1.7387
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® -4<=x<-3 -1<=x<0 2<=X<3 ® 5<=x<10
® -10<=x<-5 -3<=x<-2 O<=x<1 o 3<=x<4

® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5



OMA SYNOP U (Used: 1470)
mean: -0.0036 rms: 1.3278 std: 1.3278
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® -4<=x<-3 -1<=x<0 2<=X<3 ® 5<=x<10

-3<=x<-2 O<=x<1 e 3<=x<4
® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5



OMB SYNOP V (All: 2362)
mean: 0.0955 rms: 1.3157 std: 1.3122
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o -4<=x<-3 -1<=x<0 2<=Xx<3 ® 5<=x<10

® -10<=x<-5 -3<=x<-2 O<=x<1 e 3<=x<4
® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5 . x=0



OMB SYNOP V (Used: 1475)
mean: 0.1529 rms: 1.6649 std: 1.6579
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® -4<=x<-3 -1<=x<0 2<=X<3 ® 5<=x<10

® -10<=x<-5 -3<=x<-2 O<=x<1 e 3<=x<4
® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5



OMA SYNOP V (Used: 1475)
mean: 0.0092 rms: 1.3143 std: 1.3143
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® -4<=x<-3 -1<=x<0 2<=X<3 ® 5<=x<10
® -10<=x<-5 -3<=x<-2 O<=x<1 e 3<=x<4

® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5



OMB SYNOP T (All: 2660)
mean: 0.0184 rms: 1.3888 std: 1.3886
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® -4<=x<-3 -1<=x<0 2<=X<3 ® 5<=x<10
® -10<=x<-5 -3<=x<-2 O<=x<1 o 3<=x<4

® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5 . x=0



OMB SYNOP T (Used: 1669)
mean: 0.0294 rms: 1.7532 std: 1.7530
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® -4<=x<-3 -1<=x<0 2<=X<3 ® 5<=x<10

® -10<=x<-5 -3<=x<-2 O<=x<1 e 3<=x<4
® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5



OMA SYNOP T (Used: 1669)
mean: 0.0543 rms: 1.2198 std: 1.2186
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® -4<=x<-3 -1<=x<0 2<=X<3 ® 5<=x<10

® -10<=x<-5 -3<=x<-2 O<=x<1 e 3<=x<4
® -5<=x<-4 o -2<=x<-1 1<=x<2 ® 4<=x<5




OMB SYNOP Q (All: 2440)
mean: 0.1632 rms: 0.4304 std: 0.3982
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® x<-15 ¢(0.8<=x<-0.6 -0.2<=x<0 0.4<=x<0.6 ® 1<=x<1.5
-0.6<=x<-0.4 0<=x<0.2 ©0.6<=x<0.8 @ x>=15

®-1<=x<-0.8 +~0.4<=x<-0.2 0.2<=x<0.4 ® (0.8<=x<1 . x=0



OMB SYNOP Q (Used: 1458)
mean: 0.2731 rms: 0.5567 std: 0.4852
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® x<-15 &(0.8<=x<-0.6 -0.2<=x<0 0.4<=x<0.6 ® 1<=x<1.5
-0.6<=x<-0.4 0<=x<0.2 ©0.6<=x<0.8 @ x>=15
®-1<=x<-0.8 +~0.4<=x<-0.2 0.2<=x<0.4 ® (0.8<=x<1




OMA SYNOP Q (Used: 1458)
mean: 0.0864 rms: 0.4011 std: 0.3917
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® x<-15 &(0.8<=x<-0.6 -0.2<=x<0 0.4<=x<0.6 ® 1<=x<1.5
® -1.5<=x<-1 +=0.6<=x<-0.4 0<=x<0.2 ©0.6<=x<0.8 @ x>=1.5

®-1<=x<-0.8 +~0.4<=x<-0.2 0.2<=x<0.4 ® (0.8<=x<1



OMB SYNOP P (All: 2336)
mean: 0.0167 rms: 0.7396 std: 0.7394
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OMB SYNOP P (Used: 1475)
mean: 0.0265 rms: 0.9307 std: 0.9304
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® Xx<-3 ® -2<=x<-1.5 -0.5<=x<0 1<=x<1.5 @ 2.5<=x<3
®-3<=x<-2.5 -1.5<=x<-1 O<=x<0.5 ® 15«<=x<2 @ x>=3

® -2 5<=x<-2 °-1<=x<-0.5 0.5<=x<1 @ 2<=x<2.5




OMA SYNOP P (Used: 1475)
mean: 0.0713 rms: 0.7809 std: 0.7777
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® Xx<-3 ® -2<=x<-1.5 -0.5<=x<0 1<=x<1.5 @ 2.5<=x<3
®-3<=x<-2.5 -1.5<=x<-1 O<=x<0.5 ® 15«<=x<2 @ x>=3

® -2 5<=x<-2 °-1<=x<-0.5 0.5<=x<1 @ 2<=x<2.5
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Used 1475 Used 1475
mean: 0.0265 rms: 0.9307 std: 0.9304 mean: 0.0713 rms: 0.7809 std: 0.7777
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